NERFEHEEARER o

4pkm

=3
ErHE ;; 70. ERELWEREY |71 ERELHEREY |72, ARETEH

& | B [NAOFALE=Y | B Al JERL [FAOFAZEY)
EELi 3 164 1 53.357| 30 15
EFH 8 152 12 1,929 9 47
7= 2 167 10 2,821 18 32
mEmH 7 155 2 7,270 29 17
TiE™ 4 161 5 4,293 32 11
Al 9 151 7 3,191 13 40
BET 13 144 9 2,862 26 23
TiEFEKT 17 138 13 1,789 22 28
mAE+H 15 140 4 4676 34 7
Emh 6 155 3 5,159 21 29
= ditl 10 149 6 3,851 31 11
BFEHET 5 157 28 362 10 46
Z=4 F BT 11 147 23 458 3 82
M P ET 12 145 26 377 16 34
2 A HET 14 143 27 372 8 48
de)4t 20 131 32 163 5 56
EREA 32 91 33 76 2 109
= 1 197 17 723 15 36
AT 27 118 24 405 6 55
KEZHT 33 84 30 286 19 31
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=) BT 31 94 22 482 11 42
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=R ET 30 96 29 326 4 59
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EELi 18 953 11 375.8 4 2.22
EFH 21 93.5 16 3438 26 0.71
7= 22 92.0 2 446.6 12 1.30
mEmH 26 90.4 20 317.2 5 2.02
TiE™ 15 96.3 15 345.2 19 1.05
Al 25 91.1 17 328.0 7 1.52
BET 11 98.1 3 4315 13 1.21
TiEFEKS 1 100.0 5 416.3 18 1.08
mAE+H 19 94.6 13 366.1 15 1.20
Emh 1 100.0 28 276.6 8 1.48
= ditl 27 87.6 27 291.7 10 1.39
BFEHET 16 95.6 12 372.1 31 043
Z=4 F BT 20 94.2 7 406.8 3 256
M P ET 8 99.0 4 423.6 25 0.77
2 A HET 5 998 25 304.2 6 1.54
de)4t 30 72.7 30 268.5 - -
EREA 6 99.2 1 602.6 14 1.20
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=R ET 31 66.4 33 217.6 - -
BHEH 1 100.0 24 3075 22 0.80
p=4:3:10) 29 85.7 31 258.6 21 0.89
/8 5+ Hy 7 99.0] 22 311.1 27 0.67
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2 HmT 10 98.4] 23 310.8 16 1.20
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